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(For Batch 2017 & Onwards)
(Sﬁth Semester)
MANAGEMENT ACCOUNTING
BC-6.1

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting at
least one question but not more than fwo

from each Unit. Q. No. 10 is compulsory.
Unit I

1. Define Management Accounting and discuss

its nature and scope. 15
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The selling price of the product of X Co. Ltd.
is ¥ 200 per unit. The company is facing
competition. Presentaly its capacity utilisation
is only 50% with annual sale of ¥ 40,00,000.
The total annual fixed cost are T 6,00,000 and
variable cost per unit ¥ 120. Semi-variable
cost include fixed element ¥ 2,40,000 and
variable element ¥ 10,000 for every 5%
increase in the level of activity.

In order to withstand in the market the
management is considering to reduce selling
price by 10%. You are required to prepare
flexible budget at 50%, 60% and 70% level of
activity (a) if selling price is ¥ 200 per unit
and (b) if selling price is reduced by 10%.
Also state the number of units that should be
sold to earn present profit at reduced price. 15

From the following figure and ratio, make out
the Balance Sheet and Statement of Profit and
Loss as per Schedule III of Company Act,
2013 : 15
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(a) Share capital . 7.20,000
(b) Working Capital 2,52,000,
(c) Bank overdraft 40,000

There is no fictitious assets. In current assets
there ‘are no assets other than stock
(inventories), trade receivables and cash.
Closing inventory is 20% higher than the
opening inventory :
(i) Current ratio 2.5
(ii) Quick ratio - 1.5
(iii) Proprietary ratio

(fixed assets + proprietary fund) 0.7

(iv) Gross Profit Ratic ; 20%

(v) Inventory turnover ratio 4

(vi) Receivable turnover 36.5 days

(vii) Net profit to paid-up capital 10%
Unit IT

Discuss the characteristics of standard costing
and mention the essential of an effective system
of standard costing. : 15
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5.

100 skilled workmen, 40 semiskilled workmen
and 60 unskilled workmen were to work for
30 weeks to get a contract job completed. The
standard weekly wages were T 60; ¥ 36 and
< 24, The job was actually completed in 32
weeks by 80 skilled, 50 semiskilled and 70
unskilled workmen who were paid ¥ 65; T 40

and T 20 respectively as weekly wages.

Find out the labour cost variance, labour rate

variance and other labour variances you can.

15

What is P/V Ratio ? What are the managerial

uses of P/V ratio. Give suitable example. 15
Unit III

Describe the direct approach of determining
cash flow from operative activity. How does

direct approach differ from indirect approach ?
s &
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The. following are the summarised Balance Sheets
of Vidyut Ltd. as on 31-3-2018 and 2019 : 15

. Particulars 31.3.18 31.3.19
4 ¢

Equity and Liabilities : -
Shareholder funds :
Share Capital 2,00,000 2,50,000
Reserve Surplus :
General Reserve 40,000 - 70,000
P/L Surplus 32,000 39,000
Non-current Liabilities :
Bank Loan . 1,60,000  40.000
Current Liabilities :
Trade Payables 1,50,000 1,30,000
Provision for taxation 30,000 40,000

6,12,000 5,69,000

Assets :

Non-current Assets :

Land.and Building 2,00,000 2,40,000
Machinery 1.80,000 1,30,000
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Current Assets :

Inventories - | 90,000 1,26,000
Trade receivables 00,000 64,000
Cash and cash equivalent 52,000 9,000

6,12,000 5,69.000

Additional Informations :

(i) Year ended 31.3.19 dividend paid
T 42,000 '

(ii) Assets for another Co. were purchased
for T 50,000 payable in the issue of
shares. These were land and building
¥ 25,000 and inventory ¥ 25,000.

(iii) Dep. written off on machine is ¥ 12,000
and on land and building 22,500. Loss
on-sale of machine amounting ¥ 12,000
was written off to general reserve.

(iv) Income tax paid during the year ¥ 35,000.

(v) New addition to land and building were:

3 37,500.

Prepare fund flow statement and necessary
accounts and schedules.
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9. Explain the concept and features of
responsibility accounting. 15

10. (i) “Depreciation is a source of funds”.
| (ii) Explain ‘Target Costing’.
(iii) Define zero-base budgeting.
(iv) Explain the concept of Absorption
Costing.

(v) Give five items of receipts and payment
in cash budget. 5x4=20
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